Thursday 11.02.21				Fractions Greater than 1 - Answers
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2a. False. The image shows seven thirds which
s equal fo two wholes and one third.

3a. Simon s comect because there are two
‘Whole shapes shaded and one hal of the third
shape.
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2a. Four thirds shaded;
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3a. 1 whole and 1 part
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5a. False. The image is split into ninths. The
Image shows thirty-one ninths which s equal
o three wholes and four ninths.

sa. Ahmed is corect because the fraction
shown is two wholes and six eighths which is
‘equivalent to twenty-two eighths.
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5a. 4 wholes and 1 part shaded;
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6a.2 wholes and 4 parls
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7a. Various answers, for example:

1271 18 1415
72 andyz. 2 zond 72

Accept correct answers given In sixths.
8a. False. The image shows forty-six twelfths
‘which doesn't have an equivalent of ninths.
9a. Emily and Jacob are both coect
because the fraction shown is forty-two
‘eighteenths which s equivalent fo twenty-
ight twelfths and fourteen sixths.
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8a. 4 wholes and 6 parts shaded.
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9a.2 wholes and 7 parts





